YSy 18n0d Nf 4]
\“\/z SSINHINOY FOVAINS

YIGWIN FT1408d

oGO F SYINNY
[ E 000/ ¥310

1231084 40 3711/

O

v

\7ZIS LIFHS

%7 2854 01 % 27 NG S30VIa3Y ’ - \w“ \\ 1202/80/€0| NIV ' | A8 a0y
0g "ot oy7e~ 0 = “q [V 10zss0s20] wostsor m | g azvozmo
kvw.wix LHIIIM |NOISINIY g wj"'\(m 1202/£0/0€  NvosOW 0 4G NMYSg
et sy 1202740702 | 431500 A3y B, 22 | zozicord| wvoson 0| 48 omorsaa
271 SILYRDTS /0] TS
Fd000/-849 L ATGWISSY TVINTH p— SIN
YIGWNN LIV 1YV 40 FTL1L TVINTLV I F7VIS

INSNIdNEY "9 1202/80/%2 | 0

d3N08ddV | F1va

WEE

AYOLSIH NOISINTS

43

NIW G87

il

)7

43

48/

g8/




WSV 16n0g NJ 3]

—— ©F3| v
~ 1931084 40 F7LIL

321S 133HS
ONIMVYQG SFOVTdIY

RPN 1202/£0/42)  NIMLIY G |48 aInovdy
WLLE | 0 g L @ e V] 1202120092 nosuwor m | 4g azwoamo
0N VOISR U z _ F u _ -— g y“1\.!‘llpl4\\n 1202/£0/£2]  NV9¥OW O Ag NMYEq
R e 190940742 | 431500 a3y

a1vg o 22 | ozozsziz] weovow 0 | 4g awaisag
8/ 1/ SILVNOTS e/ ECCAES
1d 000/-491 1IND) INNG p—— SIN
YIGHIN LV 1YV 40 F1LIL TVITLYIW 37798

IXSNIdNGY "9 11202/80/92 | 0

aN08ddV | Fiva | AFY

AYOLSIH NOISINTS \VQ QQQ\IW\QIN




Sy 18700 NI 97 B SIHSYM 0892927 / 27
SN0y 3715 m 1974 GZXgH NS IV V3IH 13%90S X3 5208021] ] 7
0IN YIGWN FTH08
A G0 F avmony 193708 40 F7L1/ 3215 133HS G2X9 L3y 520902£51 Z 6g
% 0001 4310 - o 30314 GN3 YOOH 0459722927 Z 82
ST 0 onmveg s3ovisy 3 1 ’ S ozl ey 8|46 ooy YOOH ¥34d7] 0Z5197077 ! 2
- 2 10y 2 - ey SW 10N
10 m@ w,ﬂsm%% 2310 9% /e 0 ’ ot > ‘ h ) 1202/£0792| NOSISSOW M | AG GFNIFHD X I WIS dv3 GvI 155908 X C0CC0//ET 7 7
R AHOIZM |NOISIZY. ONILIIT 3 \E s 2 1202/00/82) NvosoW O | Ag Nmvag MV1) A134VS JOOH 0£5122927 / 7Z
— INIFS HOOH 8622080¢/ / £2
S e sosae | 1202/20/€2 | Y31S00H 03N B & | woravad w0 |ia amasaa TS i roocot) i
8/ TILVNTS Vg SHYRES Ol JFHSYM 900051 / 12
na 000/-821 1IND) INNG pr— SIN G-3 ONI& ONINIVIZY S500£0£051 / 0z
ECERIZE] 18722927 / 6/
TGN LIV 1Y 0 F1L1L UER F7v0S e SoNieeoss ) o
Nid FAFTTS 022922927 / <
0ZX8W M3¥2S 135 134903 X3H 21080121 / 91
IATV/_T09INOD N2 000/~-801 / o/
HOLOW IV WV 000/-491 / 7l
ZIXOW M3¥IS dVD GVIH 13405 XIH 21090L1£1 g </
INITN0) 002722927 / 2l
H01V¥3dIS NIVHD 09£992927 / "
X084VI9 89 000/-421 / o/
G%-S ONIY ONINIVIFY S70205£05] / 6
6009 INIIVIG 0/07010€1 / 8
dIIVdS 0£292292%7 / Z
OIX§IW M3¥IS dVD GVIH 134903 XIH 9/1080/I¢] 9 9
¥31dVay 09999292% / g
TIIHAM 00£99292%7 / 7
3aIN9 NIVHD 16£992927 / <
G169 INIYVIG S10£710€1 / 4
ONISNOH T3FHM 212722927 / /
VEE] NOILdI¥ISFa SFGWIN L&V ALO W31
LSI7 S18Vd - N1d 000/-4I1
[N ™
[ \& ,
\T./\l} 70
NN
@
m 1 ﬁ ] - e h p u
] |
i
O &7
N
(24
O
9 S
ol
g8/ 48/ ocl




WSV 16n0g NJ 3]

—— ©F3| v
~ 1931084 40 F7LIL

321S 133HS
ONIMVYQG SFOVTdIY

o wET IR 202/00/02)  NIMLIY G | Ag 0308V

W LULE 0 oy il @ TV 120sz0/92] nosewow M| Ag awoano

0N VOISR U z _ .P n_ _ -— g E'\(m 1202/£0/£2]  NV9¥OW O Ag NMYEq
s e s 04042 | 431500 a3y

a1vg o 22 | ozozsziz] weovow 0 | 4g awaisag
8/ ¢ SILVNOTS e/ ECCAES
1d 000/-491 1IND) INNG p—— SIN
YIGHIN LV 1YV 40 F1LIL TVITLYIW 37798

IXSNIdNGY "9 11202/80/92 | 0

aN08ddV | Fiva | AFY

AYOLSIH NOISINFS W\QKQMQQQIQ \<\q\\l\b \S\b DQ QQQ\IQ{QIN




YSv 181000 N 4]
R\/)\ SSINHINOY FOVANS
oS50 F Iy
[ F 000/ 4310

YIGWIN T 11087

1931084 40 F7LIL

O3

v

321S 133HS

$OF 5005 51 % 50 456 WG STV v e ’ e 1202/£0/02) NIV g | AG G0Ny
20 F 02] 01 dn OF ¥3A0 —
A RS b W LLE 0 o bl 2 ‘ e VN 1202/20/92) Nosissow m | Ag aawo3HD
R LHOEM |NOISIZ. ONILIIT 3 \Zo o 22 202100188 Nvosow 0 | g wmvsa
P e saashts semn | \NQN\NQ\MMS d431S00d a3y o 22 | ozozsziz] weovow 0 | 4g awaisag
8/7 SILVNOTS e/ TS
Na 000/-49.1 LIND NEG SIN
YIGWNN LIV 1Y 0 31111 UER 37708
YIHSYM 054192927 / 27
GZXGIW M3¥DS dVD GVIH 134905 XIH G2080Z15] / 7
40N X3H 8W - G86 NIG Z 07
SFHSYM 78 V- 62 NId 7 6¢
0 00GX0GIX0G] ¥01237700 NIVHD 00GX0G/X0G] 401237700 NIVHD / §¢
MIHIS dVI aVIH ¥FANITAD G2 X 8W - 2I6 NId £ /£
YIHSVM INIFS 8 - 086/ NI / 9¢
MIHIS dVD aVIH dFANITAD 02 X 9W - 216 NId / E
YTHSVM ONIFIS 9 - 086/ NI / 7e
HIHSVM 79V - 62l NId / £2
0 1340vdg ¥0123710) NIVHD 20-88-0001&01 / ¢
0 13Y0v¥g ¥0123710) NIVHD 10-88-0001891 / s
GZX9 L3NIY §20902¢<] 2 62
35314 ONF ¥OOH 045722927 Z 82
YOOH ¥3dd|] 025192927 / 42
SW AON- 5001057¢1 / [
GE X GW M3IHIS dV) avIH L3XI0S XIH S0850/1€1 / [
MYT) A137YS YOOH 055122927 / 72
INIFS HOOH 8622080¢/ / £
9-S INIY-0 700£011£7 / 2
OW JFHSVM 900£0£1£1 / 2
G-3 9NIY ININIVLIY S00£0£0£/ / [
EEIVEEEIZED 188722927 / 6/
SIHSYM 054122927 / &/
Nid FAFTTS 022922927 / Zl
0ZXGIWN MFd0S 135 1359008 XIH 210801Z€T / 9/
INTVA_T0YINOD N2 000/-401 / S/
HO10W dIY WV 000/-8401 / 7/
ZIXOW MI¥IS dVD aVIH L3400S XIH 2109041€1 g £/
INITIN0) 002922927 / 2l
HO0LV¥IdIS NIVHD 09£992927 / 1
X084v39 g9 000/-401 / o/
G7-S ONIY ONINIVIZY §7020£05 / 6
6009 9NIFVIF 0/07010¢/ / g
FERIZS 02722927 / L
OIX§IW M3dIS VD QV3H 13%20S XTH 9108015/ 9 9
§31dVay 079992927 / g
73IHM 00£992927 / 7
30IN9 NIVHD 16£99292% / £
G/69 ONI¥VIG S/0£110£1 / Z
ONISNOH T33HM 212922927 / /
N3 NOILdI¥IS3T SFGWIN L&V ALO WALl

LS17 SLYVd - 01237700 NIVHI M/2 1d 000/-8I1L

62

046

s

) )

(44

4

0¢

g8/

48/

ocl




YSv 181000 N 4]
\/ SSINHINOY FIVAUNS

YIGWIN T 11087

oS0 F SVINONY

1931084 40 F7LIL M m

v

321S 133HS

0.7 000804 006 van0 N 1202/€0/81|  Navily g |Ag aaosedy
$2/0 F00G 01 d 2] ¥N0 ONIMVYQG SFOVTdIY
2'0F 021 04 dn O ¥3A0 o
TOE ol o Zg 0 e e i “’“ 1 1202/¢012 Woswwow m | 4@ azwoamo
SERas LHOEM |NOISIAZ. ONILEIN g 120209 wvowow ‘0 | 4g nmveq
EICMM\% \mww;ﬂwnw %u,wm« \%Sd« 1e02/£0/ Qmm va m m .—-m o Dm c w m 3 0202721712  Nv9¥OW O Ag aIN9IS3q
171 SILVNOTS e/ TS
WV 000/-421 OLOW MY “ SIN
TGN LIV 1Y 0 31111 UER 37708
SLXEW MIHIS IV GVIH LINI0S XIH 52080/1€1 £ 7/
G1-S INIY ONINIVLIFY $51020£0£1 / £/
2069 ININVIG 200511081 / 2l
F1V7d INOYS 141922927 / 1
YOLVLS 191922927 / o/
ONI¥IS 117 G§£220805] 8 6
INV/ 021201L£1 8 g
62-S INIY-0 £20£011€1 / Z
YINIVIIFY IV 161722927 / 9
2009 9NI¥V3g £007010£/1 / S
0104 161922927 / 7
Nid Y20NY 15020701 / £
LH 0IXY Nid 737778V $50090%70</1 Z Z
FIVId SVIY 78922927 / /
VEE] NOILdI¥ISFa SFGWIN LSV ALO W3LI

1817 S18vd

3

TSNIINGY D

[1202/60/€2 1 0

d3N08ddV | 31va

WER

AYOLSIH NOISINFS

c




YSv 181000 N 4]
\/ SSINHINOY FIVAUNS
oS50 F Iy
| F 0001 8310

YIGWIN T 11087

1931084 40 F7LIL

O3

v

321S 133HS

§iaz ool 7 og uamo NIMVEG STIVTTY : 1202/€0/6I|  NIVLIY g | Ag a0
2'0F 021 04 dn O ¥3A0 o
TOE ol o 88 0 A e — e 1| 1202/0/8] Woswow M | 4g azvoIHD
Ewazﬁ LHOIIM |NOISIAZY ONILAIN 1202/50/91|  NV9¥OW O Ag nmvsg
EICMM\% \mww;ﬂwnw %RW%&:E« \NQN\M,Q\NM va mm .—-m o om c w m 3 0202/21/22]  NV9¥OW O Ag aIN9IS3q
171 SILVNOTS e/ ECCAES
g9 000/-491 X084v39 “
YIGWON L8V 14Vd 40 F1LIL TVISTLY I
O7X9W M3IHIS V) aVIH LIN¥I0S XIH 07090/1€1 7
¥3N00 INvag 017722927 /
££0-895SV INIY-0 £l /
ZIXOIW M3HDS VD aV3H 134005 X3H 21090211 2
9-d INIY-0 700/01/£1 /
7-S INIY-0 200£011€1 /
¥3/0) NOISid 127922927 /
INIFSS ISIG £/22080¢1 9
270-89GSYV INIE-O 270L111€1 /
NO1SId IHVEg 107922927 /
FRELILE] 0£7922927 /
ZEN 18080%70£/ Z
S0/-S 9NIY-0 G80£011£1 4
2/-S 9NIY ONINIVIIS 2/020£0£/ £
Z28-H 9NIN ININIVLIY 2£010£05/ 2
G/-S 9NIY ONINIVIFY 51020£05] £
NOINId 062992927 /
2009 9NIJv3g £007010€1 Z
Nid 092992927 £
HVT100 1SN¥HL 0£2992927 9
82-H 9NIY ONINIVIIY 820/0£0€1 9
1009 9NIIVIg 2007010£1 6
¥VIH JVIS 062992927 £
EXIA) 0972992927 /
8069 INIYVIG 800£110£1 Z
O0IXGW M3¥IS dvD aVIH L3H00S XIH 0/050£1£1 9
Nid 73mMog 07£992927 7
4V INIY 02£992927 /
ISV) ¥vI9 01£992927 /
VEE] NOILdIY¥ISTT SFGWIN LSV ALO

1817 S18vd

TSNIINGY D

[1202/60/€2 1 0

G3N08ddV |

FLVa

WER

AYOLSIH NOISINFS




¥sv 18n0g NJ 9] - o
R\/)\ SSINHINOY FIVAUNS YIGWIN FUH08S @ m
250 F SV IOy 1931084 40 3111/ 32IS 133HS
s it e onnvsg ssovieny T e Ve W i
L o K’ vy 0 2t Seniaeier i ’ e VY 1202/c0/81| Nosissow m | Ag aawo3HD
S00F § oldn oo o i - “ ]
ma_wazﬁ LHOIIM |NOISINZY ONILIIT g W\ﬁtp'\cm 2025021, wvsson © 18 NHVEG
7
% \NQN\MQ\NM\» va mm ._.m Q QN— D u m \Wmdqm 0202/21/12]  NVOsOW "0 | AG G3IN9ISIG
171 SILVNOTS e/ TS
A2 000/-421 FNTVN TO4LNOD SIN
YFEWIN 18Vd ONINIVL FATVA 19vd 40 FUIL 191201951 RLEEN 2 9705
INIHSNG 13N] 090£0/ 7€/ / /S
§INTT LIWIT 071722927 / 0s
0IXGIW M3I¥OS INIHOV | GVIH LV XIH 0/05082¢] 7 67
F3N0D ¥3AN] 049622927 / 87
ININIOVS ¥FAN £9/12019¢1 / 47
2l Nid dVNS 21006£0£1 / 97
EELRZ] 05/62£92%7 / s7
09X9W MIYIS dVD avIH L3XI0S XIH 09090/1£1 £ 77
O7X9W MIYIS dVD avIH L3408 XIH 07090/1€1 £ £7
8/] 9Mid 3did 134208 XIH £00206 75/ 7 27
8G-H ONIY ONINIVIF 8£50/10£0¢] / 17
JFINTTIS LSAVHYT 0£0207/5] / 07
YIONT TS NOTAN 1£020%7/€1 / 68
YN0 JO0J 00722927 / e
ININIVS dOL 2912019¢1 / s
NFI¥IS 13N 2/ 2£0£089¢1 / 9¢
W 1NN-] 8001057€1 / S¢
EERR ] 0£1722927 / 7€
14VAS 37108 021922927 / £€
0/-S ONI& ONINIVLIIFY 0/1020£08] / €
HINTT NIVHD 011922927 / /£
OW LON X3H 900£077£/ / [
SEXOW MIYIS L3S AVIH LINI0S XIH S£090£2¢] / 62
GZXOW M3dIS VD aVIH 13¥I0S XTH 82090Z1€1 7 8z
(&) ¥3/0D 34IS £6072292%7 / 2
(7) ¥3A07 3415 £80%2292% / 92
(N) NIV 3aIS 791201951 2 s2
PONECIZE 160922927 / 72
7" ZX6GXG] ONIFLS 91220805/ / [
GZ-H ONIY ONINIV1F G2010£0£1 / 22
YINIVIFY INvag 1970722927 / 2
ONIHSNG LINIT 062922927 / 0z
70045 IHVIG 120922927 / 6/
INIHSNG INVIG 0970922927 / 8/
0IX7 Nid 9NIddS 0107090¢/ Z Zl
92-S INIY-0 120£011€1 Z 9/
8X Gl M3IYIS INIHIV I GVIH SdITTIHS 80080v2¢€/ 2 Sl
1V3S ONIFIS 0£2%2292% 2 7/
9 2XGZXG 6] ININLS £122080¢1 £/
NOLSl4 700dS 092922927 Z 2l
7£-S INIY-0 £20£011€1 Z /!
9-S INIY-0 700£01/€/ 2 o/
0£-S 9NIY-0 720£011£1 Z 6
YIANITAD 10045 022722927 Z 8
70045 NIV 10722927 / £
82-S 9NIY-0 220£011€1 Z 9
ONIHSNG NIVIN 0£0%22927 / [
LAVHS LIWIT 097922927 / 7
ZIXOW M3I¥OS VD GVIH 134208 XIH 21090/1€1 Z <
3GIN9 1IWIT 101922927 / Z
Agog N7/ £90v2292Y7 / /
N3 NOILdI¥ISFa SFGWIN L&V ALO WAL/
LS17 S1YVd

IMSNINGY "9

[/202/80/%2 |

d3N08ddV | 31va

|IREX]

AYOLSIH NOISINFS




YSv 18nod NJ H] - Va4
R\/z SSINHINOY FIVAINS YINON TT1H08d @ m
oGO F dVININY 123r0¥4 40 3711/ 321S 1IIHS
507 00010047 005 w310 ) AR NIYLIY Ag aano.
S0.7 o) o1 o 005 aong P ——— T 1202/L0/08) NILIY G g 03/08ddy
N\@Wwﬁwmuﬁwﬂ% oM G/ 0 e ’ Y V) 1202s20/92) wosimon M| 4g azwoano
SVINIT LH9IIM |NOISINTY q‘ .
STNvETIOL 1202/10,62 j o 2| 1202/00/02]  Nvoson 0 | Ag nmvag
SYFLIWITIW NI 4V SNOISNIWIG 1TV
31412345 mw\\_\_\mm“t 0 SSIINN 21vg I WI—lm o O z O m m % 1202/90/81|  NVOYOW O Ag a3inoIS3g
FHINLVNIIS EN{d FIWVNINS
g4 000/-¢21 Y2079 wollog anavano3 40) SIN
SFGWIN L&V 18V 40 F7L1/ TVIYTLV I 37708
GXGGX0S INIYIS 61220805/ / [l
YTHSYM LIWIT 082992927 / 7/
4384058y HIOHS £009029¢1 / £/
Y207 LIWIT 08799292% / 2l
SW LON-N 800/057¢/ / /!
GS X GW MI¥IS dVD aVaH L3NI0S XIH §£0G50//</ / 0/
MVTD ALIIVS YOOH 055122927 / 6
INIFJS YOOH 862208051 / 8
ININ Y207 662208051 / 4
EZEERS 09£992927 / 9
Nid N33F7S 02119292 / g
9174 YOOH T3NS 044978027 / 7
43FATOH MOOH ¥FAN 085192927 / £
9//G 71vg 73318 02020505/ 8 Z
YOOH T3ANIMS 025122927 / /
YEE] NO/LdI&¥2S3a SFEWIN LSV ALD EN
1LS/7 SLoVd
7z
£ f
< 2 1
QY AL Q
= L
[ I
_
1l Ll
|
WISNIdNEY "9 11202/80/02 | 0
aiNodddv | Fiva ES]

AYOLSIH NOISINFS




Sy 18nod NI 4] - W LON-17 90010575/ / 9
R\/z SSINHIN0Y FoVHINS STEWIN FTH08 A@v m .V_V\ 1704 aNF 089%72292%Y / q
G0 F SV IONY 12310 40 31111 3215 133HS H3dd0LS dNT 06£992927 / 7
5.7 000/ 804 905 szn0 N e omsond waviy @ | ag canossy STHSVM LIWIT 082092977 7 I3
WNN%WQQQ%\. %..M m“w mm\m&w_\_% INIMVYG SFOVId3Y — QN%QQ%QQ\ v\.uQI% M,QQ QQNQW\ 7 N
I'0F 0€ 01 dn G ¥3n0 9 Z0 0 é\;\m 1202/£0/92]  NOSINHOW ‘M Ag GINIFHD X207 LIWIT 087992927 / /
S00F G 0L dn 0
VAN LHOIIM |NoISIEY : NFS NOILdIYISTT SFGWIN LSV AL EN
STWvEETOT ZoS 22| 1202/L0/52) WvoROW O | A8 NHvag 1S/7 S1dvd
SYILINITIN NI F¥V _SNOISNIWIA TTV
3/41934S ISIMYTHLO SSTTNN \NQN\NQ\M,M« a m w .—-m o Ox D m m % 1202/90/8|  NVIYOW O Ag G3N9IS3q
v FINLVNOIS e SHYNGTS
V3a 000/-401 YOHONY aN+ av3iJg (anz1vin03 50) S "IN
SFGWNN L&V LYVA 40 FT7LI/ TVIYTLYV I F7v28
_ 9
|
|
|
|
( 1 N
T S
s'6vd

INSNINYY "9

[ geoc/i0/81 1 0

aaNodddy | 31vg

WEL]

AYOLSIH NOISINTY




$% RED ROOSTER
(. LIFTING

Pendant - VRD-2R

DO01-P7 REV1 = Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 OEZ = Tel: +44 (0) 1651 872101 =




LIFTING

Pendant - VRD-2R

z% RED ROOSTER

Fig. No. | Part Number | Part Name Parts
Per
Hoist
131705008 HEX. SOCKET HEAD CAP SCREW M5X8 | 1
2 420228VRD | PENDANT VALVE ASSEMBLY 1
2A 420218VvB0 | THROTTLE VALVE 2
2B 420228VR0O | VALVE BODY 1
2C 420218VF0 BUSHING 2
2D 420223W40 | LEVER D 1
2E 420223W30 | LEVERU 1
2F 130402053 LEVER PIN 1
2G 130802220 SPRING 6X14X0.6 2
2H 420228W50 | FRONT CASE 1
2J 420228W60 | REAR CASE 1
2L 131705010 HEX. SOCKET HEAD CAP SCREW 1
M5X10
2M 132405014 PHILLIPS PAN HEAD MACHINE SCREW | 3
M5X14
2N 132904220 PHILLIPS PAN HEAD SELF-TAPPING 6
SCREW 4X20
2P 132105005 HEX. SOCKET SET SCREW M5X5 4
2S 131109001 O-RING S-3 (HS90) 2
2T 131103008 O-RING S-10 2
2U 131103009 O-RING S-11.2 2
2V 420224V61 EMERGENCY STOP VALVE 1
2w 420228V50 EMERGENCY STOP BUSHING 1
2X 136690503 EMERGENCY STOP BUTTON 1
2y 420228W00 | PUSH ROD 1
2AA 131103002 O-RING S-5 2
2AB 131103004 O-RING S-6 2
2AC 131103008 O-RING S-10 1
2AD 131103009 O-RING S-11.2 2
2AE 130303004 RETAINING RING E-4 1
2AF 304P 1/8 BSP TO 6MM PUSH FIT ELBOW 1
2AG P118 6MM PLUG IN ELBOW 1
2AH P087 1/8 BSP TO 6MM PUSH FIT 3
2AJ DRG- 2 STATION PENDANT BRACKET 1
SI10394-T2
2AK 113/1 HEX. SOCKET HEAD CAP SCREW 1
M6X16
2AL 113P HEX. SOCKET HEAD CAP SCREW 1
M6X20
2AM 145P FLAT WASHER M6 5
2AN 139P NYLOC NUT M6 2
2AP P245 6MM TO 1/8 BSP BULKHEAD ADAPTOR | 4
2AQ PO71/1 1/8 BSP HEX NIPPLE C/W 60° CONE 4
3 426230F1B | STRAINER WIRE 1
4 1/4-HOSE 1/4 ANTI-STATIC RUBBER HOSE 4
4A P016/1 1/8 BSP TO 1/8 HOSETAIL SWIVEL 8
4B P002/1 1/4 HOSE FERRULE 8

DO01-P7 REV1 = Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 OEZ = Tel: +44 (0) 1651 872101 =



$% RED ROOSTER
(. LIFTING

Pendant - VTP2M

D01-P2 REV1 = Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 0EZ = Tel: +44 (0) 1651 872101 =




o
&

RED ROOSTER

LIFTING

Pendant - VTP2M

Fig. No. | Part Number Part Name Parts
Per
Hoist
1 105P M4 X 20 CHEESE HEAD SCREW 2
2 E/STOP/GUARDO1 YELLOW E-STOP GUARD 1
3 113/1P M4 NYLOCK NUT 2
4 BIK3206P-BS54 EMERGENCY STOP BUTTON 1
5 304P 8mm TO 6mm BANJO 4
6 P118 90° ELBOW 6mm 2
7 P112 4 WAY JUNCTION 1
8 301P 8mm TO 6mm REDUCER 1
9 BIK-3209-P-VALVE PENDANT VALVE 2
10 P087 1/8" TO 6mm PUSHFIT 2
1 TP/HOUS/M 2 STATION MACHINED PENDANT 1
12 BIK-3209-294-B-COVER | COVER FOR BIK VALVES 2
13 XAC-B-LEGEND-UP UP LEGEND 1
14 XAC-B-LEGEND-DOWN | DOWN LEGEND 1
15 P245 1/8" TO 6mm BULKHEAD AND NUT 4
16 DRG 2652-01 PLATE 1
17 PO71/1 1/8" BSP NIPPLE C/W CONE 4
18 112P M6 x 20 HEX BOLT 2
19 P117 8mm BLANKING PLUG 1
20 139P M6 NYLOCK NUT 2
21 145P M6 WASHER 2
22 P016/1 1/8" BSP SWIVEL TO 1/4" HOSE TAIL | 4
23 P002/1 1/4" HOSE FURRULE 4

D01-P2 REV1

= Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 0EZ - Tel: +44 (0) 1651 872101 =




